No. of Concession, Name		utrition P	
pplications	Claims	CNP Overview	You are logged in as Anne Taf
Clain	ns		
NSLP Site Claim			🖹 Help   🗐 Logof
You are in <b>NSI</b>	LP Home >	NSLP Claims Ind	ex > NSLP Site Claim
			quantities that are unknown or none served, enter zero (0). Click <b>Save</b> to save your anges since the last save. Be sure to enter only <i>whole numbers</i> (no decimals/cents).

(08-02-01-207)		August Original Claim	
Regular Claim		Paid	
Breakfast - Severe Need			
Number of Days Served:	21		
Free Meals Served:	669		
Reduced-Price Meals Served:	50		
Paid Meals Served:	91		
Total Meals Served:	810		
Participants Approved for Free Meals:	749		
Participants Approved for Reduced-Price Meals:	131		
Participants Approved for Paid Meals:	940		
Participants Enrolled:	1707		
Lunch - High Rate			
Number of Days Served:	21		
Free Meals Served:	5606		
Reduced-Price Meals Served:	763		
Paid Meals Served:	3701		
Total Meals Served:	10070		
Participants Approved for Free Meals:	749		
Participants Approved for Reduced-Price Meals:	131		
Participants Approved for Paid Meals:	940		
Participants Enrolled:	1707		
Attendance Factor			
Attendance Factor:	89.5 %		
	07.50		

https://www.ade.az.gov/cnpweb/claims/claim.asp?programgroupid=2&claimid=759660&sp... 1/9/2024

Created by Anne Taffe on 9/8/2023 at 9:54:40 AM Modified by Anne Taffe on 9/8/2023 at 9:56:20 AM Submitted by Anne Taffe on 9/8/2023 at 10:09:21 AM

Cancel

Arizona Department of Education		rtment of Education	NSLP SFSP CACFP ADE Hor
Child Nutrition Program			National School Lunch Program - NSI
pplications	Claims	CNP Overview	You are logged in as Anne Ta
Claim	S		
NSLP S	ite C	laim	🝸 Help 🖓 Logo
You are in <b>NSLP</b>	Home >	NSLP Claims Index > 1	
			ties that are unknown or none served, enter zero (0). Click <b>Save</b> to save your changes or click e. Be sure to enter only <i>whole numbers</i> (no decimals/cents).
Lake Hava (08-02-01-2	-	jh School	Sponsored by Lake Havasu Unified District (08-02-0 2024 Program Ye Septemb Original Cla
Regular Claim			Pending Submission
Your claim dat	ta has be	en saved successfully.	
Breakfast - Se	vere Nee	d	
Number of Days	Served:		20
Free Meals Serv	ed:		660
Reduced-Price N	leals Serve	ed:	93
Paid Meals Serve	ed:		146
Total Meals Serv	/ed:		899
Participants App	roved for	Free Meals:	726
Participants App	roved for	Reduced-Price Meals:	102
Participants App	roved for	Paid Meals:	950
Participants Enro	olled:		1665
Lunch - High F	Rate		
Number of Days	Served:		20
Free Meals Serv	ed:		5678
Reduced-Price N	leals Serve	ed:	746
Paid Meals Serve	ed:		4107
Total Meals Serv	ved:		10531
Participants App	proved for	Free Meals:	726
Participants App	roved for	Reduced-Price Meals:	102
Participants App	roved for	Paid Meals:	950
Participants Enro	olled:		1665
Attendance Fa	ctor		
	or:		89.5 %

Created by Anne Taffe on 10/3/2023 at 1:06:25 PM Modified by Anne Taffe on 10/3/2023 at 1:08:00 PM  $\,$ 

Delete

Save

Cancel

## )



# Claims

### Site Meal Service Summary

You are in NSLP Home > NSLP Claims Index > Site Meal Service Summary

Calendar Year:	2023	$\checkmark$
Month:	October	$\checkmark$

# Lake Havasu High School (08-02-01-207)

🔁 Help | 🗐 Logoff

Sponsored by Lake Havasu Unified District (08-02-01)

Accurate as of 11/2/2023 10:13:55 AM

#### 2023 October

	_	_	_
Meal	Count	Rate	Amount
Breakfast - Severe Need			
Free Meals Served	464	2.7300	\$ 1,266.72
Reduced-Price Meals Served	82	2.4300	199.26
Paid Meals Served	130	0.3800	49.40
Add-On for Reduced-Price Meal Subsidy	82	0.3000	24.60
		Total:	\$ 1,539.98
Lunch - High Rate			
Free Meals Served	4,546	4.2700	\$ 19,411.42
Reduced-Price Meals Served	586	3.8700	2,267.82
Paid Meals Served	3,453	0.4200	1,450.26
Add-On for Menu Certification	8,585	0.0800	686.80
Add-On for Reduced-Price Meal Subsidy	586	0.4000	234.40
		Total:	\$ 24,050.70
		Claim Total:	\$ 25,590.68

Arizona Department of Education	NSLP SFSP CACFP ADE Home
Child Nutrition Program	National School Lunch Program - NSLP
Applications Claims CNP Overview	You are logged in as Anne Taffe
Claims	
NSLP Site Claim	군 Help   🗐 Logoff
You are in <b>NSLP Home</b> > <b>NSLP Claims Index</b> > NSLP Site	e Claim
Enter the information into the form. For meal quantities tha <b>Cancel</b> to disregard your changes since the last save. Be su	at are unknown or none served, enter zero (0). Click <b>Save</b> to save your changes or click ure to enter only <i>whole numbers</i> (no decimals/cents).
Lake Havasu High School (08-02-01-207)	Sponsored by Lake Havasu Unified District (08-02-01) 2024 Program Year November Original Claim
Regular Claim Your claim data has been saved successfully.	Pending Submission
Breakfast - Severe Need	
Number of Days Served:	18
Free Meals Served:	600
Reduced-Price Meals Served:	
	90
Paid Meals Served:	151
Total Meals Served: Participants Approved for Free Meals:	841 652
	78
Participants Approved for Reduced-Price Meals:	
Participants Approved for Paid Meals:	889
Participants Enrolled:	1586
Lunch - High Rate	
Number of Days Served:	
Free Meals Served:	4967
Reduced-Price Meals Served:	637
Paid Meals Served:	3842
Total Meals Served:	9446
Participants Approved for Free Meals:	652
Participants Approved for Reduced-Price Meals:	78
Participants Approved for Paid Meals:	889
Participants Enrolled:	1586
Attendance Factor	
Attendance Factor:	89.49 %

Created by Anne Taffe on 12/5/2023 at 7:28:48 AM Modified by Anne Taffe on 12/5/2023 at 7:31:54 AM

https://www.ade.az.gov/cnpweb/claims/claim.asp?validate=1&date=11/30/2023&sponsore... 12/5/2023

Delete

Save

Cancel

Arizona Department of Education		rtment of Education	NSLI	P SFSP CACFP ADE Home		
Child Nutrition Program			National Sch	National School Lunch Program - NSLP		
pplications	Claims	CNP Overview		You are logged in as Anne Taffe		
Clain	ns					
NSLP	Site (	Claim		🖹 Help   🗐 Logoff		
You are in <b>NS</b>	LP Home >	<b>NSLP Claims Index</b> > NSLP	te Claim	p  g		
			at are unknown or none served, enter zero ( sure to enter only <i>whole numbers</i> (no decim	(0). Click <b>Save</b> to save your changes or click als/cents).		
Lake Hav (08-02-01	-	gh School	Spo	onsored by Lake Havasu Unified District (08-02-01) 2024 Program Year December Original Claim		
Regular Claiı	m			Pending Submission		
Your claim	data has be	en saved successfully.				
Breakfast -	Severe Nee	d				
Number of Da	ays Served:		15			
Free Meals Se	erved:		534			
Reduced-Pric	e Meals Serv	ed:	86			
Paid Meals Se	erved:		151			
Total Meals S	erved:		771			
Participants A	opproved for	Free Meals:	640			
Participants A	opproved for	Reduced-Price Meals:	77			
Participants A	pproved for	Paid Meals:	875			
Participants E	inrolled:		1552			
Lunch - Hig	h Rate					
Number of Da	ays Served:		15			
Free Meals Se	erved:		3595			
Reduced-Price	e Meals Serv	ed:	494			
Paid Meals Se	erved:		2848			
Total Meals S	erved:		6937			
Participants A	opproved for	Free Meals:	640			
Participants A	Approved for	Reduced-Price Meals:	77			
Participants A	Approved for	Paid Meals:	875			
Participants E	inrolled:		1552			
Attendance	Factor					
Attendance F	actor:		89.49 %			

Created by Anne Taffe on 1/3/2024 at 8:51:07 AM Modified by Anne Taffe on 1/3/2024 at 8:52:27 AM

Save

Cancel

Delete

## )